I[1,1,1 =

I[1,2,2] =
I'[1,3,3] =

r[2,1,2] =

22,1 =

Spherically symmetric line element

==== Coordinates x[0], x[1], x[2], x[3] =

t
,
9
@
==== Metric g =
Ly1 0 0 0
1
0 hy 0 0
0 0 r? 0
0 0 0 r2sin?¥

4 00 0
0o = 0 0
o 0 % 0

==== Christoffel Connection Gamma

R
T T
Kk
27 (r+p)

p(r+p)
273



I[2,3,3] =

—cos ¥ sind
r[3,1,3] =
1
r
r[3,2,3] =
cos v
sin ¥
3,31 =
1
r
I'[3,3,2] =
cos
sin ¢
============= Metric compatibility
e e O.k.
e Riemann TenSOI'
R[0,1,0,1] =
L
r2 (r+p)
R[0,1,1,0] =
W
2 (r+p)
RI[0,2,0,2] =
B
2r
R[0,2,2,0] =
_H
2r
R[0,3,0,3] =
p sin® 9
2r
R[0,3,3,0] =
p sin? ¥
2r
RI[1,0,0,1] =
p(r+p)
4
R[1,0,1,0] =
p(r+p)
4
R[1,2,1,2] =
»
2r
R[1,2,2,1] =
_H
2r



R[1,3,1,3] =

p sin? 9
2r
R[1,3,3,1] =
p sin? ¥
2r
R[2,0,0,2] =
N AURAD]
274
R[2,0,2,0] =
p(r+p)
274
R[2,1,1,2] =
Bk
272 (r+p)
R[2,1,2,1] =
L
272 (r+p)
R[2,3,2,3] =
1 sin? ¥
r
R[2,3,3,2] =
w sin? 9
r
R[3,0,0,3] =
o (rtp)
274
R[3,0,3,0] =
p(r =+ p)
274
R[3,1,1,3] =
Y
272 (r+p)
R[3,1,3,1] =
Kk
272 (r+ )
R[3,2,2,3] =
H
r
R[3,2,3,2] =
T

————————————— Rjcci Tensor
======—=—=—=—=—=——=— 3]] elements zero

e e e ] RiCCi SCalaI‘



0
============= Bianchi identity (Ricci cyclic equation R A ¢ = 0)
=YY VY= O.k'
============= Einstein tensor
============= all elements zero
============= Bianchi identity of Hodge dual
============= (see charge and current densities)
============= Scalar charge density
p =

0
===========—=—= Current density class 1
JA] =

0
J[2] =

0
JB] =

0
============= Current density class 2
JA] =

0
J[2] =

0
JB] =

0
============= Current density class 3
JA] =

0
J[2] =

0
J[B] =

0



